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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 - - 98.20 1.00 - 9.32 1.70
2 3 - - 92.24 1.00 - 10.10 1.89
3 4 - - 100.00 1.00 - 15.56 291
4 5 168.66 1.00 100.00 1.00 - 15.90 2.97
5 6 168.66 1.00 100.00 1.00 - 15.90 2.97
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m
100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 - - 9.95 1.86 9.95 1.86
2 - - 100.00 1.00 16.05 3.00
3 157.86 1.00 100.00 1.00 16.05 3.00
4 163.25 1.00 100.00 1.00 15.67 2.93
5 165.53 1.00 100.00 1.00 15.92 2.97
6 165.53 1.00 100.00 1.00 15.91 2.97
7 139.48 1.00 100.00 1.00 11.80 221
8 139.28 1.00 100.00 1.00 11.89 2.22
9 139.28 1.00 100.00 1.00 11.99 2.24
10 - - 100.00 1.00 11.99 2.24
11 - - 9.96 1.00 9.96 1.86
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(D)




